/ AN Low-Voltage Three-Phase Squirrel-Cage
\~ } Asynchronous Motors




&)

Low-Voltage Three-Phase
Squirrel - Cage
Asynchronous Motors




BEARING SIZE

Drive End Non-Drive End
Frame Size Poles
International type International type
56 2~4 620127 620127
63 2~4 620127 620127
71 2~6 620227 620227
80 2~8 620427 620427
90 2~8 620527 620527
100 2~8 620627 620627
112 2~8 630627 630627
132 2~8 630827 630827
160 2~8 63092ZC3 63092ZC3
180 2~8 6311C3 6311C3
200 2~8 6312C3 6312C3
225 2~8 6313C3 6313C3
250 2~8 6314C3 6314C3
2 6314C3 6314C3
280
4~8 6317C3 6317C3
2 6317C3 6317C3
315
4~10 NU319C3 6319C3
2 6319C3 6319C3
355
4~10 NU322C3 6322C3
400 4-10 NU326C3 6326C3

MAIN DATA FOR TERMINAL BOX

Entery hole size

Classified number Frame size Max.F.Amps g
International standard
1 H56-80 2.6 2xM20x 1.5
2 H90-100 6.8 2xM25x 1.5
3 H112-132 16.4 2xM32x1.5
4 H160-180 42.5 2xM40x 1.5
5 H200-225 84.2 2xMB0x 1.5
6 H250-280 166.6 2xM63x1.5
7 H315 358 2xM63x1.5
8 H355 546 2xM63x 1.5
9 H400 600 3XM63X1.5

A



The mounting arrangements of the motors comply with IEC34-7 Recommendation. There are four basic
arrangements shown as the following tables and figures.

Fundamental
arrangement

Mounting arrangement

B3

B3

B6

B7

B8

V5

V6

Diagram

L LS L L L L

VA a4

L LS L L L L

Range of Manufacture
(framesize)

56-160

Fundamental
arrangement

B5

B35

Mounting arrangement

B5

V1

B35

V15

V36

Diagram

NN

( A
Nk

L
i

Range of Manufacture
(framesize)

56-280

56-355

56-160

56-400

56-160

Fundamental
arrangement

B14

Mounting arrangement

B14

V18

V58

V19

V69

Diagram

rooA m o,

L 1

S
|////

/7

=
—
N
~|
AN

////i

Range of Manufacture
(framesize)

56-132




. B5 Flange
. Gasket
. B14 Flange

. Frame

Key

. Oil seal (V ring)
. Bolt

8. Spring Washer
9. Front Endshield
10. Wave washer
11. Bearing

12. Stator

13. Feet

14. Nameplate

A

15. Rotor

16. Circlip

17. Rear Endshield
18. Fan

19. Fan cowl

20. Screw

21. Washer

22. Fan clamp

23. Terminal box lid
24. Terminal box base
25. Cable gland

26. Terminal board




THREE-PHASE ASYNCHRONOUS MOTOR

General introduction

ZEM series three-phase asynchronous motors, developed with new techniques.

ZEM series motors are defined as totally enclosed, fan cooled, squirrel cage type and noted
for their novel design, beautiful model, compact structures, low noise, high efficiency, large
torque, excellent starting performance, easy serving, etc. The motors are adopted with F class
insulation and designed with assessing method for insulation system according to international
practice, it enhances greatly have reached an international advanced level of the same kind of
products at the initial days of the 90s.

ZEM series motors can be widely used as driving equipments of various machineries, such as
machine tools, blowers, pumps, compressors, transporters, agricultural and food processing.
Pedestal installation size and centre height and other indexes of the motor completely measured

by ZEM series three-phase asynchronous motor.

Operating conditions

Ambient temperature: -15°C ~ 40°C Altitude: Altitude should be higher than 1000 metres above sea level.
Rated voltage: 380V, 400V, 415V, 440V. Rated frequency: 50Hz, 60Hz. Connection: Y Star-connection for
3kw or less whereas and delta-connection. Duty/Rating: Continuous (S1).

Insulation class: F, the temperature rise of the stator winding is examined at 80K

(by resistance method). Protection class: IP55.

Cooling method: 1C411.




TECHNICAL DATA

& K"&” & < | N &g > &
K@@“ éé‘ $ &Q} «”mbo"’ & s&;‘}o \oci@? oe\‘;«“‘o °¢: o«"? "o‘iw & s L@&

q/@ o2 bc." c\,@ $ ,"b" s’ols\" \g,@ & SO 'ws}:&“.@o “@"’;& < Q‘f@a"‘@\&,’b $é‘ . sc'?

& S & SHCERS & IFE IFE YT | Yege 0

‘«o“ & S & <& < Cg & & < Ol <

AN

NO Type A:‘;’;S Power Speed | EFF. | P.F. | |[pT | LRA | BDT | Noise | Weight J
380V 400V 415V kW HP r/min % Cos® RLT RLA RLT LWdB(A) kg kgm2
1 | ZEM-80Mi1-2 | 1.77 | 1.74 | 168 | 0.75| 1 2840 | 75.0 | 0.83 | 2.2 6.1 2.3 67 16 0.00075
2 |ZEM-80M2-2 | 261 | 2.48 | 2.39 | 1.1 | 15| 2840 | 76.2 | 0.84 | 2.2 6.9 2.3 67 17 0.00090
3 |ZEM-90S-2 346 | 3.28 | 3.16 | 15| 2 | 2850 | 785 | 0.84 | 2.2 7.0 2.3 72 20 0.00120
4 |ZEM-90L-2 485 | 461 | 445 | 22| 3 | 2855 | 81.0| 0.85 | 2.2 7.0 2.3 72 23 0.00140
5 | ZEM-100L-2 6.34 | 6.03 | 5.81 3 4 2860 82.6 | 0.87 2.2 7.5 2.3 76 30 0.00290
6 |ZEM-112M-2 | 82 | 7.79 | 7.51 4 | 55| 2880 | 84.2| 0.88 | 2.2 7.5 2.3 77 41 0.00550
7 |ZEM-132S1-2 | 11.1 | 10.53|10.15 | 5.5 | 7.5 | 2900 | 85.7 | 0.88 | 2.2 7.5 2.3 80 57.5 | 0.01090
8 |ZEM-13282-2 | 14.9 | 141 | 136 | 75| 10 | 2900 | 87.0 | 0.88 | 2.2 7.5 2.3 80 60.5 | 0.01260
9 |ZEM-160M1-2 | 21.2 | 20.2 | 19.5 11 | 15| 2930 | 88.4| 0.89 | 2.2 7.5 2.3 86 107 | 0.03770
10 |ZEM-160M2-2 | 28.6 | 27.2 | 26.2 15 | 20 | 2930 | 89.4 | 0.89 | 2.2 7.5 2.3 86 114 | 0.04990
11 | ZEM-160L-2 347 | 33.0 | 31.8 | 18.5| 25 | 2930 | 90.0 | 0.90 | 2.2 7.5 2.3 86 133 | 0.05500
12 |ZEM-180M-2 41 | 39.0 | 376 | 22 | 30 | 2940 | 90.5 | 0.90 | 2.0 7.5 2.3 89 165 | 0.07500
13 | 7EM-200L1-2 | 554 | 2.6 | 50.7 | 30 | 40 | 2950 | 91.4 | 0.90 | 2.0 7.5 2.3 92 218 | 0.12400
14 |7EM-20002-2 | 67.9 | 64.5 | 62.2 | 37 | 50 | 2950 | 92.0 | 0.90 | 2.0 7.5 2.3 92 230 | 0.13900
15 | ZEM-225M-2 | 82.1 | 78.0 | 75.2 | 45 | 60 | 2960 | 92.5 | 0.90 | 2.0 7.5 2.3 92 290 | 0.23300
16 |ZEM-250M-2 | 100 | 94.8 | 91.4 | 55 | 75 | 2970 | 93.0 | 0.90 | 2.0 7.5 2.3 93 359 | 0.31200
17 |ZEM-280S-2 135 | 129 | 124 75 | 100| 2975 | 93.6 | 0.90 | 2.0 7.0 2.3 94 475 | 0.57900
18 |ZEM-280M-2 | 160 | 152 | 147 90 | 125| 2975 | 93.9 | 0.91 | 2.0 7.1 2.3 94 510 | 0.67500
19 |ZEM-315S-2 195 | 186 | 179 | 110 | 150| 2975 | 94.0 | 0.91 | 1.8 7.1 2.2 96 875 1.18000
20 | ZEM-315M-2 | 233 | 222 | 214 | 132 [180| 2975 | 945 | 0.91 | 1.8 7.1 2.2 96 963 1.82000
21 | ZEM-315L1-2 | 279 | 265 | 2566 | 160 | 220| 2975 | 946 | 0.92 | 1.8 7.1 2.2 99 1010 | 2.08000
22 |ZEM-31512-2 | 348 | 331 | 319 | 200|270 2975 | 94.8 | 0.92 | 1.8 7.1 2.2 99 1138 | 2.38000
23 |ZEM-355M-2 | 433 | 412 | 397 | 250 |340| 2980 | 95.2 | 0.92 | 1.6 7.1 2.2 103 1900 | 3.00000
24 |ZEM-355L-2 545 | 518 | 499 | 315|430| 2980 | 95.4 | 0.92 | 1.6 7.1 2.2 103 2300 | 3.50000




TECHNICAL DATA

o & < . . . :
@‘é.i: os‘i,& & g,«f;\*‘;z ’&fé w"\c‘ wa"ij.’f “ a°§:§ 0~°:;;f ° Qe"jf::ef & af.

o«‘& ob"\ \o"’b a,4° -@b S\\ o:‘&\: 3 «’,‘\\ Qoéo 6i$¢°*¢ o‘?bﬂ* O.éo‘\ SE @“{'z\%\&’ s é;; s

& Qo\\ & <& € 3 s Q &e &

o Type A:‘A‘\')’s Power | Speed | EFF. | P.F. | LRT | LRA | BDT | Noise |Weight J
380V 400V 415v| kW HP | r/min % Cos®| RLT RLA | RLT |LwdB(A) kg kgm2
1 |ZEM-80M1-4 |1.57 [1.49|1.44| 055 |0.76| 1390 | 71 | 0.75 | 2.4 | 5.2 2.3 58 15 | 0.00180
2 |ZEM-80M2-4 |2.05 | 1.59|1.88|0.75 | 1 1380 | 73 | 0.76 | 2.3 | 6.0 2.3 58 15.5 | 0.00210
3 |ZEM-90S-4 2.85|2.71|261| 1.1 | 1.5 | 1390 | 76.2 | 0.77 | 2.3 | 6.0 2.3 61 19 | 0.00230
4 |ZEM-90L-4 |3.72 |3.54|3.41| 1.5 | 2 1400 | 785 | 0.78 | 2.3 | 6.0 2.3 61 23 | 0.00270
5 |ZEM-100L1-4 | 509 | 4.90|4.72| 22 | 3 | 1410 | 80 | 081 | 2.3 | 7.0 2.3 64 29 | 0.00540
6 |ZEM-100L2-4 |6.78 | 6.39|6.16| 3 4 | 1410 | 826 | 082 | 2.3 | 7.0 2.3 64 31 0.00670
7 |ZEM-112M-4 | 8.8 |8.36|8.06| 4 | 55 | 1435 | 84.2| 082 | 2.3 | 7.0 2.3 65 42 | 0.00950
8 |ZEM-1328-4 |11.7 |11.2|10.8| 5.5 | 7.5 | 1440 | 85.7 | 0.83 | 2.3 | 7.0 2.3 71 63.5 | 0.02140
9 |ZEM-132M-4 |15.6 | 14.8|14.3| 756 | 10 | 1450 | 87 | 084 | 23 | 7.0 2.3 71 72 | 0.02960
10 |ZEM-160M-4 |22.5 | 21.4|20.6| 11 | 15 | 1460 | 884 | 0.84 | 2.2 7.0 2.3 75 110 | 0.07470
11 |ZEM-160L-4 | 30 |28.5|27.5| 15 | 20 | 1460 | 89.4 | 0.85 | 2.2 7.5 2.3 75 129 | 0.09180
12 |ZEM-180M-4 |36.3 | 34.5|33.3| 185 | 25 | 1470 | 90 | 0.86 | 2.2 7.5 2.3 76 160 | 0.13900
13 |ZEM-180L-4 |43.2 | 40.8|39.3| 22 | 30 | 1470 | 905 | 0.86 | 2.2 7.5 2.3 76 178 | 0.15800
14 |ZEM-200L-4 |57.6 | 55.1|53.1| 30 | 40 | 1470 | 91.4 | 0.86 | 2.2 7.2 2.3 79 228 | 0.26200
15 |ZEM-2255-4 |70.2 | 66.7|64.3| 37 | 50 | 1475 | 92 | 0.87 | 2.2 7.2 2.3 81 288 | 0.40600
16 |ZEM-225M-4 |84.9 | 80.7|77.8| 45 | 60 | 1475 | 925 | 0.87 | 2.2 7.2 2.3 81 313 | 0.46900
17 |ZEM-250M-4 | 103 | 98.1|94.6| 55 | 75 | 1480 | 93 | 0.87 | 2.2 7.2 2.3 83 376 | 0.66000
18 |ZEM-280S-4 [138.3| 131 | 127 | 75 | 100 | 1480 | 93.6 | 0.88 | 2.2 6.8 2.3 86 508 | 1.12000
19 |ZEM-280M-4 | 165 | 157 | 152 | 90 | 125 | 1480 | 93.9 | 0.88 | 2.2 6.8 2.3 86 581 | 1.64000
20 |ZEM-315S-4 | 201 | 191 | 184 | 110 | 150 | 1480 | 94.5 | 0.88 | 2.1 6.9 2.2 93 846 | 3.10000
21 |ZEM-315M-4 | 240 | 228 | 220 | 132 | 180 | 1480 | 94.8 | 0.88 | 2.1 6.9 2.2 93 940 | 3.62000
22 |ZEM-315L1-4 | 288 | 273 | 264 | 160 | 220 | 1480 | 94.9 | 0.89 | 2.1 6.9 2.2 97 1044 | 4.13000
23 |ZEM-31512-4 | 360 | 342 | 329 | 200 | 270 | 1480 | 94.9 | 0.89 | 2.1 6.9 2.2 97 1162 | 4.73000
24 |7EM-355M-4 | 443 | 421 | 406 | 250 | 340 | 1490 | 95.2 | 0.90 | 2.1 6.9 2.2 101 1700 | 6.50000
26 |ZEM-355L-4 | 559 | 531 | 511 | 315 | 430 | 1490 | 95.2 | 0.90 | 2.1 6.9 2.2 101 1900 | 8.20000




TECHNICAL DATA

@ & ; ¢ ¢ ¢ ¢
‘é@‘i: ofi,& & bf-}i:%z &fé *@f 3"?’5 % aii‘f eef::::fw be"j:;}sf & ef.

& ob"\ \o,bb N &gz §o';ei SIS Q°s° Q%.;@,; éffﬁ o yq«}ceo@ S s;s

& ® @\ 0@ & € 3 3 B & o8

NO. Type A(r;?s Power Speed | EFF. | P.F. | LRT | LRA | BDT | Noise | Weight J
380V 400V 415v| kW HP r/min % Cos® | RLT RLA | RLT |LwdB(A) kg kgm2
1 |ZEM-80M1-6 | 1.3 |1.23|1.19 | 0.37 | 0.5 880 62 0.70 1.9 4.7 2.0 54 15 0.00160
2 |ZEM-80M2-6 | 1.8 |1.70|1.64 | 0.55| 0.75| 880 65 0.72 | 1.9 4.7 2.1 54 16 | 0.00190
3 |ZEM-90S-6 2.29|2.18|2.10 | 0.75 1 905 69 0.72 2.0 5.3 2.1 57 20 0.00290
4 | ZEM-90L-6 3.18 [ 3.02 291 | 1.1 1.5 905 72 0.73 2.0 5.5 2.1 57 23 0.00350
5 ZEM-100L-6 4 3.80 | 3.66 1.5 2 920 76 0.75 2.0 5.5 2.1 61 29 0.00690
6 |ZEM-112M-6 | 5.6 |5.29|5.10 | 2.2 3 935 79 0.76 | 2.0 6.5 2.1 65 41 0.01400
7 ZEM-132S-6 7.4 |7.03]6.78 S 4 960 81 0.76 2.1 6.5 2.1 69 e 0.02860
8 |ZEM-132M1-6 | 9.75 | 9.26 | 8.93 4 5.5 960 82 0.76 | 2.1 6.5 2.1 69 66 0.03570
9 |ZEM-132M2-6 ( 12.9 | 12.3|11.8 | 5.5 | 7.5 960 84 0.77 2.1 6.5 2.1 69 76.5 | 0.04490
10 |ZEM-160M-6 | 17.2116.3|15.8 | 7.5 10 970 86 0.77 2.0 6.5 2.1 73 106 | 0.08100
11 | ZEM-160L-6 2451233224 | 1 15 970 87.5| 0.78 | 2.0 6.5 2.1 73 122 | 0.11600
12 | ZEM-180L-6 | 31.6|30.0|28.9| 15 | 20 970 89 0.81 | 2.0 7.0 2.1 73 167 | 0.20700
13 |ZEM-200L1-6 | 38.6 |36.6|35.3 | 18.5| 25 980 90 0.81 2.1 7 2.1 76 236 | 0.31500
14 | 7EM-2001.2-6 | 44.7 | 42.5|41.0 | 22 30 980 90 0.83 2.0 7 2.1 76 247 | 0.36000
15 |ZEM-225M-6 | 59.3 | 56.3|54.3 | 30 40 980 91.5 | 0.84 | 2.0 7 2.1 76 287 | 0.54700
16 | ZEM-250M-6 71 | 67.5|65.1 | 37 50 980 92 0.86 | 2.1 7 2.1 78 355 | 0.84300
17 | ZEM-280S-6 86 | 81.7]78.1 45 60 980 92.5 0.86 2.1 7 2 80 444 1.39000
18 |ZEM-280M-6 | 104 | 99.5|95.9 | 55 75 980 92.8 | 0.86 | 2.1 7 2 80 498 | 1.65000
19 |7EM-3155-6 | 142 | 135 | 130 | 75 | 100 | 985 | 93.5 | 0.86 | 2.0 6.7 2 85 859 | 4.11000
20 |ZEM-315M-6 | 169 | 161 | 155 90 | 125 985 93.8 | 0.86 | 2.0 6.7 2 85 950 | 4.78000
21 |ZEM-315L1-6 | 207 | 196 | 189 | 110 | 150 985 94 0.86 | 2.0 6.7 2 85 1031 | 5.45000
22 |ZEM-31512-6 | 245 | 232 | 224 | 132 | 180 985 94.2 0.87 2.0 6.7 2 85 1107 | 6.12000
23 |ZEM-355M1-6 | 292 | 278 | 268 | 160 | 220 990 945 | 0.88 1.9 6.7 2 92 15660 | 9.50000
24 | ZEM-355M2-6 | 365 | 347 | 335 | 200 | 270 990 94.5 0.88 1.9 6.7 2 92 1600 |10.40000
25 |ZEM-355L-6 457 | 434 | 418 | 250 | 340 990 94.5 | 0.88 1.9 6.7 2 92 1700 [12.40000




TECHNICAL DATA

%o

X

>

4@’@2 o:i & & é,,.wji . fé K&&* &oé:?‘&e fﬁ ,:}‘ . i:%”’ o‘,o:;z&eo < $$<-
& & Qo\\\ & & A Q & & Q @< &
o Type A{Z‘;’s Power Speed | EFF. | P.F. | LRT | LRA | BDT | Noise |Weight| J
380V 400V 415V | kW HP | r/min % | Cos®| RLT | RLA | RLT |LwdB(A)| kg kgm2

1 |ZEM-80MI1-8 |0.83| 0.84|0.80 | 0.18 | 0.25| 645 51 0.61 | 1.8 3.3 1.9 52 15 | 0.00250
2 |ZEM-80M2-8 |1.10]1.10|1.06 | 0.25 | 0.34 | 645 54 | 061 | 1.8 3.3 1.9 52 16 | 0.00300
3 | ZEM-90S-8 1.49|1.41|1.36 | 037 | 05| 675 62 | 061 | 1.8 4 1.9 56 20 | 0.00510
4 | ZEM-90L-8 2.17|2.07|1.99 | 0565 | 0.75| 680 63 | 061 | 1.8 4 2 56 23 | 0.00650
5 |ZEM-100L1-8 |2.43|2.31 /222 |0.75| 1 680 70 | 067 | 1.8 4 2 59 29 | 0.00900
6 |ZEM-100L2-8 |3.36|3.20|3.08 | 1.1 | 1.5 | 680 72 | 069 | 1.8 5 2 59 31 0.01100
7 |ZEM-112M-8 | 4.4 | 4.18|4.03 | 1.5 2 690 74 | 0.70 | 1.8 5 2 61 41 0.02450
8 |ZEM-1328-8 6.0 | 5.66 | 5.46 | 2.2 710 79 | 071 | 1.8 6 2 64 61 0.03140
9 [ZEM-132M-8 | 7.8 |7.41|7.15 | 3 4 710 80 | 0.73 | 1.8 6 2 64 74 | 0.03950
10 |ZEM-160M1-8 | 10.3]9.76 | 9.41 | 4 55 | 720 81 073 | 1.9 6 2 68 95.5 | 0.07530
11 |ZEM-160M2-8 | 13.6] 129|125 | 55 | 7.5 | 720 83 | 074 ] 1.9 6 2 68 107 | 0.09310
12 | 7EM-160L-8 |17.8|16.9|16.3 | 7.5 | 10 720 | 855 | 0.75 | 1.9 6 2 68 128 | 0.12600
13 |7ZEM-1801-8 |25.5|24.2|23.3 | 11 15 730 | 875 | 0.75 2 6.5 2 70 169 | 0.20300
14 | ZEM-200L-8 |34.1]/32.4|31.2 | 15 | 20 730 88 | 0.76 2 6.6 2 73 236 | 0.33900
15 | 7EM-2255-8 | 41.1]39.0|37.6 | 18.5 | 25 730 90 0.76 | 1.9 6.6 2 73 274 | 0.49100
16 |7EM-225M-8 |48.9|45.0|43.4 | 22 | 30 730 | 905 | 0.78 | 1.9 6.6 2 73 290 | 0.54700
17 |ZEM-250M-8 | 63 | 60.2|58.1 | 30 | 40 735 91 0.79 | 1.9 6.5 2 75 370 | 0.83400
18 |7EM-280S-8 78 739|712 | 37 | B0 740 | 915 | 079 | 1.9 6.6 2 76 488 | 1.65000
19 |ZEM-280M-8 | 94 | 89.4|86.1 | 45 60 740 92 0.79 | 1.9 6.6 2 76 563 | 1.93000
20 |ZEM-315S-8 111 | 106 | 102 | 55 75 735 92.8 | 0.81 1.8 6.6 2 82 852 | 4.79000
21 |7ZEM-315M-8 | 150 | 143 | 138 | 75 | 100 | 735 | 935 | 0.81 | 1.8 6.2 2 82 933 | 5.58000
22 |ZEM-315L1-8 | 178 | 169 | 163 | 90 | 125 | 735 93.8 | 082 | 1.8 6.4 2 82 1027 | 6.37000
23 |ZEM-31512-8 | 217 | 206 | 199 | 110 | 150 | 735 94 082 | 1.8 6.4 2 82 1117 | 7.23000
24 |ZEM-355M1-8 | 261 | 248 | 239 | 132 | 180 | 740 93.7 | 082 | 1.8 6.4 2 90 2000 | 7.90000
25 |ZEM-355M2-8 | 315 | 299 | 288 | 160 | 220 | 740 942 | 082 | 1.8 6.4 2 90 2150 | 10.30000
26 |ZEM-355L-8 | 387 | 368 | 355 | 200 | 270 | 740 | 945 | 0.83 | 1.8 6.4 2 90 2250 | 12.30000
27 |ZEM-3158-10 | 100 | 95 | 91 45 | 60 590 915 | 075 | 1.5 6.2 2 82 818 | 4.79000
28 |ZEM-315M-10 | 121 | 115 | 111 | 55 | 75 590 92 0.75 | 1.5 6.2 2 82 903 | 5.58000
29 |ZEM-315L1-10 | 162 | 154 | 148 | 75 | 100 | 590 | 92.5 | 0.76 | 1.5 5.8 2 82 1007 | 6.37000
30 |ZEM-315L2-10 | 191 | 181 [ 175 | 90 | 125 | 590 93 | 077 | 15 | 5.9 2 82 1100 | 7-23000
31 | ZEM-355MI1-10 230 | 218 | 211 | 110 | 150 | 590 | 93.2 | 0.78 | 1.3 6.0 2 90 1800 | 7.90000
32 |ZEM-355M2-10| 275 | 261 | 252 | 132 | 180 | 590 | 93.5 | 0.78 | 1.3 6.0 2 90 2000 | 10.30000
33 |ZEM-355L-10 | 334 | 317 | 305 | 160 | 220 | 590 | 935 | 0.78 | 1.3 6.0 2 90 2500 | 12.30000




Mounting data

[ | - | g
S S
] o ] ] 9
A ] ]
e —— rs 1 ?
~E- —cf‘—B—‘ -E- —c—‘—B—‘ -E- —c—‘—B—‘
L L
H80-90 H100-132 H160-355 H80-355

Frame with feet and end-shield without flange(IM B3)

FFs‘lAZI\éIE POLES A A/2 B (o D E F G H K AB AC AD HD L DH*
80M 2468 | 126 | 625 100 | 50 | 19 | 40 6 | 16,5 | 80 10 | 165 | 165 | 145 | 220 2.95) M6x16
90S 2468 | 140 70 100 | 56 | 24 | 50 8 20 90 10 | 180 | 175 | 155 | 250 320 M8x19
90L 2468 | 140 70 125 | 56 | 24 | 50 8 20 90 10 | 180 | 175 | 155 | 250 345 M8x19
100L 2468 | 160 80 140 | 63 | 28 | 60 8 24 100 | 12 | 205 | 196 | 180 | 270 385 | M10x22
112M 2468 | 190 e 140 | 70 | 28 | 60 8 24 112 | 12 | 230 | 220 | 190 | 300 400 | M10x22
132S 2468 | 216 108 140 | 89 | 38| 80 | 10 | 33 132 | 12 | 270 | 259 | 210 | 345 470 | M12x28
132M 2468 | 216 108 178 | 89 | 38| 80 | 10 | 33 132 | 12 | 270 | 259 | 210 | 345 510 | M12x28
160M 2468 | 254 127 210 | 108 | 42 | 110 | 12 37 160 | 15 | 320 | 315 | 2565 | 420 615 | M16x36
160L 2468 | 254 127 254 | 108 | 42 | 110 | 12 37 160 | 15 | 320 | 315 | 2565 | 420 660 | M16x36
180M 2468 | 279 | 1395 | 241 | 121 | 48 | 110 | 14 | 425 | 180 | 15 | 365 | 355 | 280 | 455 700 | M16x36
180L 2468 | 279 | 1395 | 279 | 121 | 48 | 110 | 14 | 425 | 180 | 15 | 355 | 355 | 280 | 455 740 | M16x36
200L 2468 | 318 1569 | 305 | 133 | 65 | 110 | 16 | 49 200 | 19 | 395 | 397 | 305 | 505 770 | M20x42
2258 48 356 178 286 | 149 | 60 | 140 | 18 g 225 | 19 | 435 | 445 | 335 | 560 815 | M20x42
295M 2 356 178 | 311 | 149 | 65 | 110 | 16 | 49 225 | 19 | 435 | 445 | 335 | 560 820 | M20x42

468 356 178 | 311 | 149 | 60 | 140 | 18 53 225 | 19 | 435 | 445 | 335 | 560 845 | M20x42

250M 2 406 | 203 349 | 168 | 60 | 140 | 18 53 250 | 24 | 490 | 485 | 370 | 615 920 | M20x42
468 406 | 2083 349 | 168 | 65 | 140 | 18 58 250 | 24 | 490 | 485 | 370 | 615 920 | M20x42

280S 2 457 | 2285 | 368 | 190 | 65 | 140 | 18 58 280 | 24 | 550 | 5647 | 410 | 680 995 | M20x42
468 457 | 2285 | 368 | 190 | 75 | 140 | 20 | 67.5 | 280 | 24 | 550 | 547 | 410 | 680 995 | M20x42

280M 2 457 | 2285 | 419 | 190 | 65 | 140 | 18 58 280 | 24 | 550 | 547 | 410 | 680 | 1045 | M20x42
468 457 | 2285 | 419 | 190 | 75 | 140 | 20 | 67.5 | 280 | 24 | 550 | 547 | 410 | 680 | 1045 | M20x42

3155 2 508 | 254 | 406 | 216 | 65 | 140 | 18 58 316 | 28 | 635 | 620 | 6530 | 845 | 1185 | M20x42
46810 | 508 | 2564 | 406 | 216 | 80 | 170 | 22 71 316 | 28 | 635 | 620 | 630 | 845 | 1220 | M20x42

315M 2 508 | 254 | 457 | 216 | 65 | 140 | 18 58 316 | 28 | 635 | 620 | 530 | 845 | 1290 | M20x42
46810 | 508 | 254 | 457 | 216 | 80 | 170 | 22 71 316 | 28 | 635 | 620 | 6530 | 845 | 1325 | M20x42

315L 2 508 | 254 508 | 216 | 65 | 140 | 18 58 315 | 28 | 635 | 620 | 530 | 845 | 1290 | M20x42
46810 | 508 | 254 508 | 216 | 80 | 170 | 22 71 316 | 28 | 635 | 620 | 630 | 845 | 1325 | M20x42

355M 2 610 | 305 560 | 264 | 75 | 140 | 20 | 675 | 3556 | 28 | 730 | 698 | 655 | 1010 | 1500 | M20x42
46810 | 610 | 305 560 | 2564 | 95 | 170 | 25 | 86 355 | 28 | 730 | 698 | 655 | 1010 | 1530 | M20x42

355L 2 610 | 305 630 | 2564 | 75 | 140 | 20 | 675 | 355 | 28 | 730 | 698 | 655 | 1010 | 1500 | M20x42
46810 | 610 | 305 630 | 2564 | 95 | 170 | 25 | 86 365 | 28 | 730 | 698 | 655 | 1010 | 1530 | M20x42




MOUNTING DATA

[ ] e e
‘7& | ] ‘ 1 | W |
o= [ 9 o /= [ 2 o L= 2
Ed Ed ] |
: ' / ' : : '
A P =T A
L L L
H80-90 H100-132 H160-355
_ F,S‘
N2 @‘
_ PH|
7D7

FRAME WITH FEET AND END-SHIELD WITH FLANGE(IM B35)

H80-200

H225-355

FRAME poigs|A |A/2| B | c |D| E|F| G| H |k | m|N| P|s|T[WNGE aAg| ac|aD| HD| L DH*
SIZE HOLES
8OM |2468|125] 62.5| 100] 50 | 19| 40| 6 |15.5| 80 | 10 | 165] 130| 200| 12 | 3.5] 4 | 165 | 165 | 145| 220| 295 | M6 =16
90S |2468|140] 70 | 100| 56 | 24| 50| 8 | 20 | 90 | 10 | 165| 130| 200| 12 | 3.5| 4 | 180 | 175 | 165 | 250 | 320 | M8x19
90L |2468|140| 70 | 125| 56 | 24| 50| 8 | 20 | 90 | 10 | 165] 130 200] 12 | 35| 4| 180|175 | 1565| 250 | 345 | M8x19
100L |2468|160] 80 | 140| 63 | 28| 60| 8 | 24 | 100| 12 | 215| 180| 250| 15 | 4| 4 | 205|196 | 180| 270 | 385 | Mi0x22
112M |2468[190| 95 | 140| 70 | 28] 60| 8 | 24 | 112 12 | 215| 180| 250| 16 | 4 | 4 | 230 | 220 | 190| 300 | 400 | Mi0x22
132S |2468 216 108 | 140| 89 | 38| 80| 10| 33| 132] 12 | 265 230 300| 16 | 4| 4 | 270 | 259 | 210| 345| 470 | Mm12x28
132M |2468 216 108 | 178] 89 | 38| 80| 10| 33 | 132] 12 | 265 230[ 300[ 16 | 4| 4| 270|259 | 210 345| 510 | M12x28
160M |2468 |254] 127 | 210| 108| 42| 110| 12| 37 | 160| 15 | 300| 250| 350| 19 | 5| 4 | 320 | 316 | 255 | 420 | 615 | M16x36
160L |2468|254| 127 | 264] 108| 42| 110| 12| 37 | 160| 15 | 300| 250| 360| 19 | 5| 4 | 320 | 315 | 25656 | 420 | 660 | M16x36
180M |2468 |279]139.5| 241| 121 48] 110| 14 | 42.5 180| 15 | 300| 250| 350| 19| 5| 4| 355 |355| 280 455| 700 | M16x36
180L |2468|279)139.5| 279] 121 48| 110| 14 |42.5] 180] 15 | 300| 250| 350| 19 | 5 | 4 | 355 | 355 | 280 | 455 | 740 | M16x36
200L |2468|318| 159 | 305| 133| 55| 110 16 | 49 | 200| 19 | 350| 300| 400| 19 | 5| 4 | 395 | 397 | 305 | 505 | 770 | M20x42
225S | 48 |356| 178 | 286| 149| 60| 140| 18 | 53 | 225| 19 | 400| 350| 450| 19 | 5| 8 | 435 | 445 | 335 | 560 | 8156 | M20x42
yosn |2 |356] 178 [311] 149] 65| 110] 16| 49 [ 225[ 19 [ 400 350] 450 19 [ 5 | & | 435[445[335| 660 | 820 |M20x42
468 |366| 178 | 311| 149| 60| 140| 18| 53 | 225| 19 | 400| 350| 450| 19 | 5 | 8 | 435 | 445 | 335 | 560 | 845 | M20x42
ssoM |2 |406] 203 | 349] 168] 60| 140] 18| 63 | 250[ 24 | 500] 450| 550| 19 | 5| & | 490485 | 370| 615 | 920 | M20x42
468 |406| 203 | 349| 168| 65| 140| 18| 58 | 250 24 | 500| 450| 550| 19 | 5 | 8| 490 | 485 | 370 | 615 | 920 | M20x42
o805 |2 |457| 22855 368] 190] 65| 140 18 58 | 280| 24 | 500| 450 650| 19 | 5| & | 650 | 647 | 410| 680 | 995 | M20x42
468 |457|2285| 368| 190| 75| 140| 20 | 67.5| 280| 24 | 500| 450| 650| 19 | 5 | 8 | 550 | 547 | 410 | 680 | 995 | M20x42
ogom |2 |457[2285[ 419] 190] 65| 140] 18| 58 [ 280[ 24 | 500] 450] 550 19 [ 5| & | 650 547 [410] 680 | 1045 | M20xa2
468 |457|2285| 419] 190| 75| 140| 20 | 67.5| 280| 24 | 500| 450| 6550| 19 | 5 | 8| 550 | 547 | 410 | 680 | 1045 | M20x42
a15s | 2 |508| 254 | 406] 216 65| 140| 18| 68 | 315 28 | 600| 560 660| 24 | 6 | & | 635|620 | 530 | 845 | 1185 | M20x42
46810508 254 | 406| 216 80| 170] 22| 71| 315| 28 | 600| 550| 660| 24 | 6 | 8 | 635 | 620 | 530 | 845 | 1220 | M20x42
s15m |2 |508] 254 [ 457] 216] 65| 140] 18] 68 | 315] 28 [ 600] 650] 660| 24 | 6| & | 635|620 [ 630 | 845 [ 1200 | M20x42
46810|508| 254 | 457| 216 80| 170| 22| 71 | 315| 28 | 600| 550| 660| 24 | 6| 8 | 635 | 620 | 530 | 845 | 1325 | M20x42
515, |2 |508] 254 | 508[ 216] 65| 140| 18| 58 | 315] 28 | 600 50| 660| 24 | 6 | & | 635 | 620 | 530 | 845 | 1290 | M20xa2
46810|508| 254 | 508] 216 80| 170] 22| 71 ] 315] 28 | 600| 550| 660| 24 | 6| 8| 635|620 | 530| 845 | 1325 | M20x42
550 |2 [610] 305 [ 660] 254] 75| 140] 20 [67.5] 355 26 | 740] 680| 00| 24 [ 6 | & | 730698 [ 655 | 1010| 1500 [ M20x42
46810610 305 | 560| 254 | 95| 170| 25 | 86 | 355| 28 | 740 680| 800| 24 | 6 | 8 | 730 | 698 | 655 | 1010] 1530 | M20x42
a55L |2 |610] 305 | 630] 254 75 140| 20 |67.5] 355| 28 | 740| 680| 800| 24 | 6 [ & | 730 | 698 | 655 | 1010 1500 | M20x42
46810610] 305 | 630| 254| 95| 170 25 | 86 | 355| 28 | 740| 680| 800| 24 | 6 | 8 | 730 | 698 | 6556 | 1010] 1530 | M20x42




MOUNTING DATA

Q
e | e Q e
oo = g 2 o = g 9 ofz= g Q
y P
T T Tl
L L- L
o — AD— g —
_ . F ,g‘ [ < VIS S
@t : > s
_ PH| \, . ,_
— Di -
H80-90 H100-200 H200-280
FRAME WITHOUT FEET AND END-SHIELD
WITH FLANGE(IM B5)
Fz’:\Z“gE POLES | D | E |F| G | M| N | P | s | T |FLANGE| sc | AD | HF L DH*
HOLES
80M 2468 | 19| 40| 6 | 15.5|165| 130|200| 12 | 3.5 4 155 | 145 | 185 | 295 M6 x 16
90S 2468 | 24| b0 | 8 | 20 | 165] 130|200| 12 | 3.5 4 175 | 155 | 195 | 320 M8 x19
90L 2468 | 24| 50| 8 | 20 | 165]130|200| 12 | 3.5 4 175 | 165 | 195 | 345 M8 x19
100L 2468 | 28| 60| 8| 24 |2151180|250| 15| 4 4 196 | 180 | 245 | 385 M10 x 22
112M 2468 | 28| 60| 8| 24 | 215/ 180|250| 15| 4 4 220 | 190 | 265 | 400 M10 x 22
132S 2468 | 38| 80 | 10| 33 | 265|230|300| 15 | 4 4 259 | 210 | 315 | 470 M12% 28
132M 2468 | 38| 80 | 10| 33 | 265|230|300| 15| 4 4 259 | 210| 315 | 510 M12 x28
160M 2468 | 42| 110| 12| 37 | 300| 250|350| 19 | b5 4 315 | 255 | 385 | 615 M16x 36
160L 2468 | 42| 110| 12| 37 |300]250|350| 19| b 4 315 | 255 | 385 | 660 M16 x 36
180M 2468 | 48| 110| 14| 42.5|300| 250|350| 19 | b 4 365|280 | 430 | 700 M16 x 36
180L 2468 | 48| 110| 14| 42.5|300| 250|350| 19 | b5 4 3b5 | 280 | 430 | 740 M16 x 36
200L 2468 | 55| 110| 16| 49 | 350 300|400| 19 | 5 4 397 | 305 | 480 | 770 M20 x 42
225S 48 60| 140| 18| b3 | 400| 350|450| 19 | b 8 445 | 335 | 535 | 815 M20 x42
295M 2 b5 110| 16| 49 | 400| 350|450| 19 | 5 8 445 | 335 | 535 | 820 M20 x 42
468 60 | 140| 18| 53 | 400| 350|450 | 19 5 8 445 | 335 | 535 | 845 M20x 42
250M 2 60| 140| 18| b3 | 500| 450|550 19| b 8 485 | 370 | 595 | 920 M20 x 42
468 65| 140| 18| 58 | 500| 450|550 19 | b5 8 485 | 370 | 595 | 920 M20 x 42
2803 2 65| 140| 18| 58 | 500| 450 | 550 | 19 5 8 547 | 410 | 650 | 995 M20 x42
468 751 140| 20| 67.5| 500| 450|550 19 | b 8 547 | 410 | 650 | 995 M20% 42
280M 2 65| 140| 18| 58 | 500| 450|550 19 | b 8 547 | 410 | 650 | 1045 M20x42
468 751 140| 20| 67.5| 500| 450 | 550 | 19 5 8 547 | 410 | 650 | 1045 M20x42




MOUNTING DATA

— — —
—E —E— ‘
== Q = | 2 - ] 2
a|z | o —
T llel 4 el g 1l _c e
L L
F_ @
- - Q
—AJ2- ,‘ AL,
A
—Db— ——AB—
H80-132
FRAME | poLes (A A2 B|C|D|E|F|GIH|K M|N| P|R* S|T|MANGE AR ac|AD|HD| L
SIZE HOLES
80 246 8 125162.5/100| 50 | 19 |40 | 6 |15.5/ 80 | 10 [100| 80 |120| O | M6 |3.0 4 165 | 155 | 145 | 214 | 295
90S 2 46 8 140| 70 |100| 656 |24 |50 | 8 |20 |90 | 10 |115]| 95 |140| O | M8|3.0 4 180 | 175 | 1565 | 250 | 320
9oL 2 468 140| 70 |125| 66|24 |50 | 8 |20 |90 | 10 [115]| 95 |140| O | M8|3.0 4 180 | 175 | 155 | 250 | 345
100L 2 46 8 160| 80 |140| 63 |28 |60 | 8 | 24 [100| 12 [130|110]160| O | M8| 3.5 4 205 [ 196 | 180 | 270 | 385
112M 2 468 190| 95 |140| 70|28 |60 | 8 |24 [112| 12 [130|110]/160| O | M8| 3.6 4 230 1220 | 190 | 300 | 400
132S 2 46 8 216/108|1401 89 |38 |80 | 10 | 33 |132| 12 |165/130(200| 0 |M10| 3.5 4 270 (259 | 210 | 345 | 470
132M 2 468 216/108|1781 89 |38 |80 | 10 | 33 |132| 12 |165/130(200| 0 |M10| 3.5 4 270 1259 | 210 | 345 | 510




H80-90

N

]
L

AC

‘ —

L

H100-132

H80-90 H100-132

MOUNTING DATA |

FRAME WITHOUT FEET AND END-SHIELD WITHOUT FLANGE (IM B14)

FRAME FLANGE

POLES R*

SIZE D|  E|F| G| M| N/| P S T |'Woles | AC | AD | HF L
80 246 8 19 | 40 6 15,5 | 100 | 80 120 0 M6 3.0 4 155 145 185 295
90S 246 8 24 | 50 8 20 115 | 95 140 0 M8 3.0 4 175 155 195 320
90L 246 8 24 50 8 20 115 | 95 140 0 M8 3.0 4 175 155 195 345
100L 246 8 28 60 8 24 130 | 110 | 160 0 M8 3.5 4 196 180 245 385
112M 2468 28 60 8 24 130 | 110 | 160 0 M8 3.5 4 220 190 265 400
132S 246 8 38 | 80 10 33 165 | 130 | 200 0 [M10 3.5 4 259 210 315 470
132M 2468 38 | 80 10 33 165 | 130 | 200 0 [M10 3.5 4 259 210 3156 510




FRAME TYPE, FRAME WITHOUT FEET AND END SHIELD
WITH FLANGE (WITH PLAIN HOLES) (IM V1)

AC
/_‘*4%
— AD— . | —AD—
S 225
N & \ -
N S
@E LJ MJ
|
'-‘-" [
- N——
p—— H160-200 H225-355
FRAME FLANGE
SIZE POLES D E F M N P S T HOLES AC AD HF L
160M 2468 | 42 110 12 300 250 350 19 5 4 315 | 255 455 695
160L 2468 | 42 110 12 300 250 350 19 5 4 315 | 255 455 740
180M 2468 48 110 14 300 250 350 19 5 4 355 280 500 790
180L 2468 | 48 110 14 300 250 350 19 5 4 355 | 280 | 500 830
200L 2468 55 110 16 350 300 400 19 5 4 4397 | 305 550 860
2258 48 60 140 18 400 350 | 450 19 5 8 445 | 335 | 610 905
- 2 55 110 16 400 350 | 450 19 5 8 445 | 335 | 610 | 910
468 60 140 18 400 350 450 19 5 8 445 335 610 935
2500 2 60 140 18 500 450 550 19 5 8 485 370 | 650 1015
468 65 140 18 500 450 550 19 5 8 485 | 370 | 650 | 1015
2805 2 65 140 18 500 450 550 19 5 8 547 410 | 720 1110
468 75 140 20 500 450 550 19 5 8 547 | 410 | 720 | 1110
280M 2 65 140 18 500 450 550 19 5 8 547 | 410 | 720 | 1150
468 75 140 20 500 450 550 19 5 8 547 | 410 | 900 | 1150
res 2 65 140 18 600 550 660 24 6 8 620 530 | 900 | 1280
46810 80 170 22 600 550 | 660 24 6 8 620 | 530 | 900 | 1510
" 2 65 140 18 600 550 660 24 6 8 620 530 | 900 | 1310
315
46810 80 170 22 600 550 660 24 6 8 620 530 | 900 | 1430
2151 2 65 140 18 600 550 660 24 6 8 620 | 530 | 900 | 1310
46810 80 170 22 600 550 660 24 6 8 620 530 | 900 | 1430
355 2 75 140 20 740 630 800 24 6 8 698 | 655 | 1010 | 1640
46810 95 170 25 740 630 800 24 6 8 698 | 655 | 1010 | 1670
— 2 75 140 20 740 630 800 24 6 8 698 | 655 | 1010 | 1640
46810 95 170 25 740 630 800 24 6 8 698 | 655 | 1010 | 1670




IM B3

H400-450

MOUNTING AND OVERALL DIMENSIONS OF IM B3

[

[

f
=

X

%0

| :
©
7

:

T

HQ@@@@

BB

H
B1

C].

L

DH

H400-450

AD

Mounting Dinensions Overall Dimensions
Type
Poles| A |[AA| AB/AC |B1 BB/ C | D DH |E | F| G| H HA| HD K L | AD|Eyeboit X|Y |Z
400L 4 110 210 | 28 | 100 1925
400L | 6.8.10 | 686 | 125 | 810| 855 | 710 1090 | 280 & $120 | M24X54 210 | 32 | 109 | 400 | 30 1080 | $36, 1925 | 430 2xM36 430/540225
450L 4 $130 210 | 32 | 119 2200
450L [4.6.8.10 800 | 190 1000 930 1000 |1300 | 300 | $140 | M24X54 [210 | 32 | 129 | 450 52 1380 | $42 2200 | 480, 2xM36 |500/595 410
X
Y
000
| $ o \ j
ol z| o EEE 2 a
= S €
E ||[H[ %} =
V=== @f
= Iyl [ iA =
M
T C B1
" i
A
BB
L AB
Mounting Dinensions Overall Dimensions
Type
YP€ | poles A |AA|/AB|ACB1/BB| C | D E|F| H HAHD DH K L M| N P S T |[Eyeboit| X|Y | Z
400L 4 $110 | 210| 28 1925
400L |6/8/10 | 686 | 125 | 810 | 855 |710 1090 | 280|120 | 210| 32| 400 | 30 [1080| M24X54 | ©36 (1925 | 940 | 880 | 1000 | 8x®28 | 6 | 2xM36 | 430|540 | 225
450L 4 800 | 190 | 1000 930 [1000|1300 | 300|130 |210| 32| 450 | 52 (1380 $42 12200 | 1080 1000 1150 | 8x®28 | 6 | 2xM36 | 500|595 | 410
450L |6/8/10 $140 | 210/ 32 M24X54 2200

16



IMV1 H400-450

MOUNTING AND OVERALL DIMENSIONSOF
IMV1 H400-450

— N 3
on
=|. =
@
<y 2
L iU hi
T 1 B
D
N
P
Mounting Dinensions Overall Dimensions
Type
Poles | Ac D E F G H | HD| DH L|LM|M|N|P s T |Eyeboit X | Y| Z
400L 4 ®110 | 210 28 100 1925 | 2025
400L 6.8.10 855 | 120 | 210 32 109 400 | 1180 | M24X54 | 1925 | 2025 | 940 | 880 | 1000 | 8x$28 | 6 | 4xM36 |430 | 540| 225
450L 4 930 | 130 | 210 32 119 450 | 1380 2200 | 2300 {1080(1000| 1150 | 8x$28 | 6 | 4xM36 |500 | 595| 410
0L | 6.8.10 0140 | 210 | 32 | 129 M24x54 | 2200 | 2300
@é'e & X 3 o & & & &
k"‘ o“e \°'z§'; é{,& ¢°A 'bé & o‘o' & oéé o°\o‘° a°°$w & &
@‘0 :}1'@ ebQ Q"\:&&,}&o& @"'\\%«\g (\@0 e}K @‘?o‘;feo w‘?oo"q;l‘o ,‘o"‘&&&@ e”ie”"coj\&wb 40\,&
X O N0 » & SO QR o
‘(‘ff& 'bob Qﬁ S *Ao\ Q&\ &AQQ‘ <& Q°§ Qf;&‘ K Q,:?‘ K ONE éf@@oox
NO Type Output| Amps | Speed | EFF. P.F. LRT LRA BDT Noise v
' kw A | t/mn| % Cos® RLT RLA RLT LwdB(A)
1 400L1-4 450 792 1490 96.3 0.89 1.7 6.8 2.2 105 380
2 400L2-4 500 878 1490 96.3 0.89 1.7 6.8 2.2 105 380
3 400L3-4 560 978 1490 96.3 0.89 1.7 6.8 2.2 108 380

—



TECHNICAL DATA OF H400-450 SERIES

K o o

&'“é'.b; Q°f \\\f‘%i@ b“&::‘@@ '@“a ‘\“’&o‘ é"éf;f Q a~°§f ~°‘§f® o"°§¢‘f &

P & oba} ,;&b ‘z s‘s‘%@@ é\\\o’;e\j @oo Q}: S & o""; é“‘?‘y 0\«’} O s \‘e: S @“’2 &;@"\oo &
& ° < S N & & Q &S
NO. Type Output| Amps | Speed | EFF. P.F. LRT LRA BDT Noise v
kw A r/min | % Cos® RLT RLA RLT | LwdB(A)

4 400L4-4 630 | 633 | 1490 | 96.3 0.89 1.7 6.8 2.2 108 660
5 450L1-4 630 | 639 | 1490 | 96.5 0.89 1.6 7 2.6 108 660
6 450L2-4 710 | 718 | 1490 | 96.5 0.89 1.6 7 2.6 108 660
7 450L3-4 800 | 806 | 1490 | 96.7 0.89 1.6 7 2.6 108 660
8 450L4-4 900 | 905 | 1490 | 96.7 0.89 1.6 7 2.6 108 660
9 400L1-6 355 | 649 990 96 0.86 2 6.5 2.2 98 380
10 400L2-6 400 | 729 990 96 0.86 2 6.5 2.2 98 380
11 400L3-6 450 | 817 990 96 0.86 2 6.5 2.2 102 380
12 400L4-6 500 | 906 990 96 0.86 2 6.5 2.2 102 380
13 450L1-6 500 | 534 990 | 96.2 0.86 1.6 7 2.6 102 660
14 450L2-6 560 | 596 990 | 96.3 0.85 1.6 7 2.6 105 660
15 450L.3-6 630 | 670 990 | 96.5 0.85 1.6 7 2.6 105 660
16 450L4-6 710 | 751 990 | 96.5 0.85 1.6 7 2.6 105 660
17 400L1-8 315 | 596 740 96 0.82 2.1 6.1 2.4 95 380
18 400L2-8 355 | 676 740 96 0.82 2.1 6.1 2.4 95 380
19 400L3-8 400 | 757 740 926 0.82 2.1 6.1 2.4 99 380
20 450L1-8 400 | 445 740 96 0.89 1.6 7 2.6 99 380
21 450L2-8 450 | 499 740 96 0.82 1.6 7 2.6 99 380
22 450L3-8 500 | 553 740 | 96.2 0.82 1.6 7 2.6 99 380
23 450L4-8 560 | 621 740 | 96.2 0.82 1.6 7 2.6 102 380
24 400L1-10 | 250 | 512 590 | 95.2 0.77 2.1 6.5 2.4 99 660
25 400L2-10 | 315 | 639 590 96 0.77 2.1 6.5 2.4 99 660
26 400L3-10 | 355 | 718 590 96 0.77 2.1 6.5 2.4 99 660
27 450L1-10 | 355 | 732 590 | 95.6 0.77 1.6 7 2.6 99 660
28 450L2-10 | 400 | 822 590 | 95.6 0.77 1.6 7 2.6 99 660
29 450L3-10 | 450 | 927 590 | 95.6 0.77 1.6 7 2.6 99 660




Ee® xR (RbE) BARRLS]
DRIVES & CONTROL (SEA) PTE LTD

OUR REGIONAL OFFICES / FACTORIES:

[BE Head-quarters: [E)= MALAYSIA:
47L Tuas South Avenue 1, Singapore 637249 Drives & Control Malaysia Sdn Bhd
49H Tuas South Avenue 1, Singapore 637258 Plot 107,Kings park @ Nusajaya
Tel:6777 5777 Fax: 6778 4326 Hs(D) 479592 Ptd 17186
Email: sales@drivescontrol.com.sg Mukim Of Pulai, Johor.
Website: www.drivescontrol.com.sg Email: salesmy@drivescontrol.com

CHINA: * VIETNAM:
] | * |

Drives & Control Tianjin Pte Ltd Drives & Control Vietnam Liaison Office
204 Room Building 2 Email: salesvn@drivescontrol.com
Jingly Yuan 249 Hefeng Road

Sino Singapore Eco City China 30046

Email: dnctianjin@drivescontrol.com.sg

MYANMAR:
L Drives & Control Myanmar Pte Ltd
Email: salesmm@drivescontrol.com



